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}

Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;

AA = ARKE i s - MU 2% S 3

62

<-6M # B /X.Mm 15 @ £ 8 /15.RBT.cpp [FORMAT=unix] [TYPE=CPP] [P0S=54,30][62%] 21/09/19 - 20:21
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Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;
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Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;
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Leetcode-20: #55 UL

Given a string containing just the
characters ~ C, 7)’, "{, '}, """ and '], determine if
the input string i1s valid.

The brackets must close in the correct
order, “()” and " []1{}” are all valid
but “(]” and 7 ([)]” are not.
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Node *insert_maintain(Node *root) {

if ('hasRedChild(root)) return root;

if (root->lchild->color == RED && root->rchild->color == RE
if (!hasRedChild(root->1lchild) && !hasRedChild(root->rchild)) return root;
root->color = RED;
root->lchild->color = root->rchild->color = BLACK;
return root;

}

if (root->lchild->color == RED) {
if ('hasRedChild(root->1lchild)) return root;

} else {
if (!hasRedChild(rootl>rchi1d)) return root;
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bool isValid(char *s) {
int32_t lnum = @, rnum = 0;
int32_t len = strlen(s);
for (int32_t i = 0; i < len; i++) {
switch (s[1]) {
case : ++Llnum; break;
case : ++rnum; break;

default : return :

}

1f (lnum >= rnum) continue;
return ;

}

return lnum == rnum;
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1 bool isValid(char *s) {

Z int32_t lnum = 0;

3 int32_t len = strlen(s);

4 for (int32_t 1 = 0; 1 < len; i++) {
5 switch (s[i]) {
6
7
8
9

case : ++Lnum; break;

case : --lnum; break;

default : return -
1f (Lnum >= 0) continue;
return ;

}

return lnum == 0;
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